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Compute the balance in each of the three accounts for Jobs P-20 and P-43. Compute the 6/1 balance in each account, post June events, and calculate the 6/30 ending balances.
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As you complete the problem, refer to the following suggestions:

You will be calculating unit costs for products A and B using both traditional and activity-based costing methodologies.

a.       When developing your activity-based costing rates, be sure to show the activity/resource, cost, volume, and rate per unit of measure.

b.       Using your activity based rates, apply actual activities of products A and B to determine total cost by product and unit costs. Separate the activity/resources by unit, batch, product, customer, and facility levels.

c.       Determine unit costs by using traditional costing.

d.       Compare the unit costs using activity-based costing and traditional costing approaches and analyze the reason for the differences
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Analyze the profitability of the Premium and Standard products in light of the promotion costs being incurred for each product. Determine the margins associated with each product and the related return on net sales for each.

b.  Determine the advisability of continuing the promotional spending related to each product in light of your findings. What would you recommend?

